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urease test CLO test
Helicobacter pylori

Diagnostic test  urease test CLO test”

Helicobacter pylori

Helicobacter pylori
(GU) (DU)
(gastric carcinoma)
(gastritis)
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3.2

A1y

27

(proton  pump
1 (
4
, coccoid form

rapid urease test  CLO test urease test

rease enzyn”
antrum

90

urease test 2
urease test

Helicobacter pylori
Helicobacter pylori

70,000
prothrombin time control

diagnostic test

= Zoc2p (1-P)
d:
Helicobacter pylori
alpha error 5% = 1.96
Helicobacter pylori =0.90

A 0.1 10%
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28

Helicobacter pylori

(196)2(09) 0) = 3%T5

(0.1)2

Helicobacter pylori
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100x 3457 = 62.85 =63
55
4
Helicobacter pylon »
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Xylocaine spray

mouth guard

mouth guard

mouth guard

antrum 3 (

biopsy forcepn

body

CLO test®

antrum

urease test
gel

rease cnzyn”®

Helicobacter pylori
Helicobacter pylori 6

pylorus 2 ) body 3
Helicobacter pylori ~ antrum
body
antrumtl ~ body 1
CLO test®  urease test

(formalin)
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CLO test°u  urease test

CLO test®”  urease test
CLO test'll  urease test

6. CLO test®  urease test 30
1 ' 3 y 24 y 48 72
CLO test®  urease test
24
24
2
1 antrum ~ hody 1
1 Hematoxylin and Eosin Glemsa stain
CLO test®, urease test
Hematoxylin and Eosin (dark blue)
mucus
urease test
urease test
urease test Proteus spp. urea agar base
(BBL®) Becton Dickinson(Microbiology Systems Cookey sville M D.
21030,USA)) urea agar base 29 100
(filtration) agar agar 5
900 autoclave  121° 15
( 50 C urea agar base) pH
6.0 0.5

urea agar hase 1,000



Pancreatic Digest Gelatin
Dextrose

Sodium Chloride
Potassium Phosphate
Urea

Phenol red

CLO test®, urease test

21

2.2

predictive value,

3.

urease test

test

1 gm

1 gm
A
gm
Z gm
20 gm
0.012 gm

31

SPSS 7.5 for Window

Jpositive predictive value.ncgative

CLO test® urease test
2x2 table

degree of agreement

urease test CLO test ®

CLO test ®  rease
Kappa analysis
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.. 2540 .. 2541

urease  test
Urease test
Urease test
agar pH

Helicobacter pylori



300
Urease test

33

63x300 =18,900
= 1,000
= 1,000
=20,900
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